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BHARATIYA VIDYA BHAVAN'S V M PUBLIC SCHOOL, VADODARA
QUESTION BANK

CLASS X MATHEMATICS PRACTICE PAPER TOPIC

TRIGONOMETRY

o o tan67° 2 12250 2550
Evaluate: sin3l S€¢°7° F (cotZS") *$in"35° — €0s755°
a?-1
If tan A + sec A = a, show that az+1 =sin A

sin@ n tan@
Prove that 1-cos6 1+cos@

Find the value of cos15° using the formula cos(A-B) = cosAcosB + sinAsinB
1 1

If COtA + coc 4 =2, then prove that Cot?A + Cota .Cota
If tan0 == Cos0 +Sind _ b+a

b Prove that coso-sin6 b—a
If x Sin®0 + y Cos®0 = SinO CosO and x SinO =y Cos O Prove that x>+y?=1
If 7cosecO - 3Cot—] =7 Prove that 7cot - 3CosecO = +3

1 1 tanA+tanB
[fTan A=Zand Tan B=7p \6ing Tan(A+B) = T-tanacans 10. Evaluate :

=sec 0 cosect + cotf

sinl15 cos75+cos15 sin75
tan5 tan30 tan35 tan55 tan 85

. If tan (A+B) = V3 and tan (A-B) = % :0<A+B <90, A>B find A and B

. Find the value of sec50° Sin 40° + Cos40° Cosec50°

. If sind + CosO = V2 Cos(90 - O) determine cotl

s o1 o
.Solveforl]:sme_z’0 <92 <90

. Prove that (V3 + 1)(3-cot30°) = tan® 60° — 2 sin 60°

1
. If 1 + Sin?0 = 3 sin0 CosO then prove that tan 0 =1 or 2

230 + x sin260 - 3 tan230= 10

. Determine for x ; 2 €05¢¢

Vitsing = V1-sing = 2sec
. Prove that vi-sing = Vi+sing O
. Evaluate:-

(cos? 25° + cos? 65° ) + cosec 8 sec (90° — 8) — cot 8. tan (90° - 0)



12
20. If Cos A = 13, find the value of all other trigonometric ratios.

1-sin @
21. Prove that ¥ 1+siné
22. Prove that:- sin@(1l+tan6)+cos@ (1+coth)=sech +coseco .

=secf -tan@

23. Evaluate:-

(sin? 25° + sin? 65° ) + v/3 ( tan 5° tan 15° tan 30° tan 75° tan 55° )

1 1
24. Prove that 1+ siné | 1-sine = 2 sec2 6

25. Prove that :-

1
(Cosec A —sin A) (sec A —c0s A) = tan A+cot 4

_3
26. If sind s Find the value of (tanO = secO)?
1
27.If 7 sin%0 + 3 c0s%0 = 4, show that tan ¢ = 73
28. Find the value of tan 60° geometrically.
secA+tanA—1  1+sinA
29. Prove : tana-secA+1  cosA .

1+COSA+ sin A
30. Prove that: sina 1+cos A

1+sin A _ 2
31. Prove that: 1-sina (secA +tan4)

= 2cosec A

B+C . A
32. If A, B, C are interior angles of AABC, then show that: “°° (T) = i3

_Sin39° °© ° o o o _ inZ2910 a2 Q0
33 Evaluate: cosers T 2tan11°tan31°tan 45°tan 59°tan 79° — 3(sin“21° + sin“69°)

34.1f tan(A+B) = 1 and sin(2A-B) = 1 find A and B
35.1f CosecO-SinO = m and SecO-CosO = n prove that (m?n)?? + (mn?)?% =1

36.1f a cos®0 + 3a cosO sin?0 = m a Sin® O + 3a cos?0 SinO = n prove that
(m+n)23 + (M-n)2/zs = 2az3

37.1f 2cosO - SinO = x and CosO-3sinO=y prove that 2x? + y> — 2xy =5,
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